Gl &8 AF & F Ml A
2016E & =0l & LB
A R =y
M orME T2 A
ool S22 Hd cet )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Fal=n. 32,998,915 38,272,695 A5,273,780
= 1,596,050
Xl 10,568,000
< 1,618,000
s 19,216,865
orE s S 2 &3 5,076,980 7,761,920 A 2,684,940
< 70,000
[ia 5,006,980
Szl e 465,080 602,060 A 136,980
H& the 2 225,000 214,000 11,000
201 Let24E] 25,000 25,000 0
01 At 22l 20,000 20,000 0
ozg szt 20,000
02 =224l 5,000 5,000 0
OuWeEI| KX 22l8l( 5,000
206 M= Hl 125,000 123,000 2,000
01 =8l 125,000 123,000 2,000
ON&eE &gst 60,000
OMADl & 60,000
OR2ei=0L 100& x50, 0000H 5,000
302 Ol == TH o 50,000 46,000 4,000
02 812+O1 TH ol 50,000 46,000 4,000
OM&xY 50,000
307 glz2tol & 25,000 20,000 5,000
06 283 25,000 20,000 5,000
OM4A=SI EIt 25,000
Ay et 11,500 5,500 6,000
201 L2l 6,000 0 6,000
03 & AL2 Z I 6,000 0 6,000
OHEERE 2 M=sal 6,000
202 04l 2,500 2,500 0
01 = LH YI 2,500 2,500 0
OHLdF g2 2,500
203 R =&t 3,000 3,000 0
03 AMBZAHRF 3,000 3,000 0
OAHddF 3,000
EZNENHNE 29 220,580 374,560 A 153,980
201 LBt 50,080 50,080 0
01 At 22l 8,580 8,580 0
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EXN: A4
M olHE RN HE
el S 222 A (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O=zdH 88 ¢ 3,000
OEZ2E L3 =&H| 7,000 *62H 90 3,780
OkzE42 &g=s 2 150, 000& ~6H 900
OEzz+8 g5 7Y 150,000 *6 5 900
02 224 H| 41,500 41,500 0
O8meE= ZA)| SX22(50) 40,000
Oul=2 sX2e2lyl 1,500
206 M = Hl 15,500 13,400 2,100
01 M =4l 15,500 13,400 2,100
OEZAM2IELE M7 10,000 x500m 5,000
OEzEsE2E3E otAZ 2 21,0008 *500% 10,500
401 Al HI L 2 0HHI 155,000 310,000 A 155,000
01 Al& B 155,000 310,000 A 155,000
Oo=2& H=&¢ 35,000
OEZNE ENAIEAE A & B4 120,000
=22 MA 2] 8,000 8,000 0
201 2Et2A Y| 8,000 8,000 0
01 AP 22| d| 8,000 8,000 0
O=g 2 SJII++8 S 8,000
T=2EA A 4,611,900 7,159,860 A 2,547,960
= 70,000
= 4,541,900
sSHEEZ 238X &2 1,470,000 1,662, 180 A 192,180
401 Al HI L £ 0HHI 1,470,000 1,662, 180 A 192,180
01 Al& H| 1,460,190 1,651,047 A 190,857
OE=z0l=&X Y 70,000
Ostdots Mgz=s & 99,100
Osde dNgEz A 99,100
OYIIEdsHECZE LA 695,590
OMMEsSHEEZSIZE 496,400
03 Al 201 Y| 9,810 11,133 N 1,323
Oostdits Mgz S A 900
Osde dNgEz A 900
OYIIEdsHECZS LA 4,410
OMN S sHEEZE L E 3,600
o Y X 1,301,000 1,901,240 A 600,240
202 044l 1,000 1,000 0
01 2L Y| 1,000 1,000 0
o2& RFA 1,000
401 A& HI L E0HHI 1,300,000 1,900, 240 A 600,240
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SN HED
Bu: otXe SR HE
chelr SRe e

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 1,292,800 1,888,540 A 595,740
Ozt & sHEEZ FX 22 300,000
OEN~XE2t Z& SZEH 297,840
O E~HE2r =23 297,840
O~ 2= X 397,120
03 AIE 2 THHI 7,200 11,700 A 4,500
O&8N~XE2Y Z2& &ZF
300,000,000& *0.72% 2,160
O &~HE2t =234l 300,000,000 *0.72% 2,160
O=JN~7&d 2% & 2,880
CEREUE ofix 1,100,000 998,440 101,560
401 AIEHIZL 20HEI 1,100,000 998,440 101,560
01 A& Hl 1,094,960 991,960 103,000
Oung ordmgzazu B 300,000
Os4&tw Jrd 794,960
03 Al 2 0HHI 5,040 6,480 A 1,440
Os4&tw Jt4 5,040
AEEZ ML 100,900 568,000 A 467,100
401 A& HI L 20l 100,900 568,000 467,100
01 A& HI 100,000 564,421 AN 464,421
OFD~X&E2 A T2 dEMHH ALY 100,000
03 Al S HHI 900 3,579 A2,679
OF0~XN&E2 AEEZ dEMHH A 900
OtM et el 2 I & XI A 500,000 2,000,000 A 1,500,000
401 AIEHI L 2 0] 500,000 2,000,000 A 1,500,000
01 A& Hl 500,000 1,992,800 A 1,492,800
OLASKF BHSIMEAEY 500,000
notdE A 140,000 0 140,000
< 70,000
s 70,000
401 Al HIZ 201 Y] 140,000 0 140,000
< 70,000
s 70,000
01 A& HI 140,000 0 140,000
OYgZF&ALIANEE HHFZ 140,000
< 70,000
[ia 70,000
SZMA JIBHHIH &= 16,721,575 18,638, 355 21,916,780
= 1,577,300
Xl 8,538,000
< 1,390,000
s 5,216,275
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EXN: A4
M HMA JIBHHIAH &5
Sl sesE MEIIBEY (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
SesE MED|IBXTY 16,721,575 18,638,355 N1,916,780
= 1,577,300
Xl 8,538,000
== 1,390,000
= 5,216,275
25K =2lAlE HES 437,900 252,000 185,900
101 124 4| 40,000 50,000 A 10,000
04 JI2ZtHIZ22NEES 40,000 50,000 A 10,000
O=z&el Mde=Xl E2)| & &HH| 40,000
201 LBt 9| 41,000 41,000 0
01 AP 22| H| 31,000 31,000 0
O%clAld THoH O S HH L=
500,000 603! 30,000
OJIgtx2d HR2E=X 1,000
02 32%H| 10,000 10,000 0
Oxx)| KAEE 500,000 x20H 10,000
206 M = Hl 90,900 0 90,900
01 X2 H| 90,900 0 90,900
O3l 2 90,900
401 Al HI L £ 0HHI 266,000 161,000 105,000
01 Al& B 266,000 160,000 106,000
O%elAE (M=, 242 =X, I,
242 S) FAE4 2 FH| 50,000
ONM$R FUFTES L HY 0
OJISHEAIA 216,000
MEt=24 S22 196,575 246,755 A 50,180
201 LBt | 20,000 20,000 0
01 AP 22| d| 20,000 20,000 0
ONME(59)84 +TAME
125,000 x 16004 &~ 20,000
401 AlEHIZ 2 0HY| 176,575 226,755 A 50,180
01 Al&H| 175,000 225,000 A 50,000
OMEZ4 GlIIAE AMZE22 & Xotx=HEx
At 75,000
OMEE4 RIES 100,000
03 A& E2HH]| 1,575 1,755 A 180
OMeE 4 SlIIAAE AIE2te] & Xlol="ax
Ak 75,000,000 *0. 9% 675
oMz FANES 900
MY A= HES 1,113,800 1,021,800 92,000
401 AlEHIZL 201 Y| 1,113,800 1,021,800 92,000
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A AL
M sHMA JIBHHH &5
Sl sesE MEIIBEY (B9 ®R)
5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& HI 1,110,000 1,019,000 91,000
oz3d |RANE=> 160,000
OZF OIEAML (22, 293 S) sAH2 100,000
O=g2a3Ne 600,000
O HHME 250,000
03 Al 20 HI 3,800 2,800 1,000
OZFIML ANEE HES 3,800
SEMHSAS 400,000 500,000 A 100,000
401 Al&HI & 28I 400,000 500,000 A 100,000
01 A& HI 400,000 500,000 A 100,000
OSEMEAY 400,000
EH+2 UMY 701,500 701,500 0
401 Al HI L 2 THYI 601,500 501,500 100,000
01 A& HI 600,000 500,000 100,000
OZ2t=2 FHIAL 600,000
03 Al 2 0HHI 1,500 1,500 0
OZti=2 FHIAY 1,500
403 MtXISHHE X201 & 100,000 200,000 A 100,000
02 B 2SO0lCHSH A2 X CH & A I 100,000 200,000 100,000
OZti==2 dlsatAte 100,000
SEMEEZ HLAY 1,002,000 1,000,000 2,000
Xl 700,000
s 302,000
101 @124l 2,000 0 2,000
M4 I12HH22NSES 2,000 0 2,000
O=zslis |2 2,000
401 A& HI L 20l 1,000,000 1,000,000 0
Xl 700,000
i 300,000
01 A& HI 992,800 993,700 A 900
OZdH SZHEEA FHIAY 496,400
Xl 350,000
s 146,400
OtEH SEMEEZ U ALY 496,400
X 350,000
s 146,400
03 AIE 2 0HHI 7,200 6,300 900
OZdH SZHEEA FHIAY
500,000,000& *0.72% 3,600
OUEH SZMHEEA FHIAY
500,000,000& *0.72% 3,600
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EXN: A4
M HMA JIBHHIAH &5
Sl sesE MEIIBEY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
NES=SB L 740,000 823,000 A 83,000
Xl 518,000
= 222,000
401 AIEHIZL 201 Y| 740,000 823,000 A 83,000
Xl 518,000
= 222,000
01 Al&H| 735,338 647,816 87,522
ONEXNR NES BAMLALY 735,338
Xl 518,000
= 217,338
03 A& E20HH] 4,662 5,184 NB22
OMEXNT XNESL BLHEAS
740,000,000 *0.63% 4,662
st S+ 243,000 0 243,000
= 194,000
= 49,000
401 AlEHIZL 2 0HY| 243,000 0 243,000
= 194,000
= 49,000
01 Al&EH| 241,250 0 241,250
Ostg i =Y 241,250
= 194,000
= 47,250
03 Al&E 201 Y| 1,750 0 1,750
Osteiiyl 20 243,000,000 *0.72% 1,750
2| BFE H| ALY 250,000 0 250,000
N 200,000
= 25,000
= 25,000
401 AlEHIZL £ 0HY| 250,000 0 250,000
Xl 200,000
= 25,000
= 25,000
01 Al&EH| 248,200 0 248,200
Ogo|et HUlAIY 248,200
Xl 200,000
= 25,000
= 23,200
03 Al 201 Y| 1,800 0 1,800
Ogo|et HHIAIY 250,000,000 *0.72% 1,800
I HSHE A Z ST A 500,000 553,000 A 53,000
Xl 350,000
& 75,000
= 75,000
401 AlEHIZL £ 0HY| 500,000 553,000 A 53,000
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2N

X{ XH -
S =

O O 1y
12 19 Mx
o 0z &
>
N

;

T W
5

o
o

W 1T

0z <

el

SA-Z3H-SH2A(3AH) - A

01
o

0l &t o

=

M
2Hm
==
£l
Ol
0y

350,000
75,000
75,000

H A

01 A& HI 496,400 549,517 AB3, 117
OJIAstEdHE S HAY 496,400

350,000
75,000
71,400

03 Al 20 HI 3,600 3,483 117

OJIHSEHZ HEFAY

HoHA

H

500,000,000& *0.72% 3,600

olbhE A

= (Al

=)
I

2 A 7,030,500 8,432,600 A 1,402,100
5,220,000
904,000
906,500

oA

401 AIEHIZ 2 I 2,879,500 3,854,000 A 974,500
2,314,000
491,000
74,500

EUN R

01 A& HI 2,869,869 3,837,641 N967, 772
O3EXF EXH DSUSIIAE 155,869
110,000

11,000
34,869

2,684,000
2,204,000
480,000

O
0o
>
o
o
T
of
0z
P}
e
0x
t?j
>
118
M =

M =

O&FAANY S MM &

o, #x2X 02250 S

0x

EA(saXE

i

N
=

—

30,000
03 A2 2 THHI 9,631 16,359 N6,728

O3&EXF EXH DSUSIIAE
157,000,000& *0.72% 1,131

Ogas s 842

t
3,148,000,000& *0.27% 8,500

403 TtXI S SA=01A 4,151,000 4,578,600 N 427,600
2,906,000
413,000
832,000

EUN R

GilCHE Xt= X O & At Bl 4,151,000 4,578,600 N427,600

oy 0
o
P
20

,428,000
,000,000
99,000
329,000

HoHA

,090,000

Xl 763,000
77,000

m
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<

n0

Kio

Hl w

A 154,000
A 154,000
A 154,000

31,000

31,000

31,000

H3r
Wikd
RIS

184,000
184,000
184,000
115,000

115,000

115,000

357,000

Off &t 24

[t

250,000
1,533,000
1,073,000

Xl

W

230,000
230,000

I

100,000
70,000

Xl

H

7,000
23,000
30,000

1

30,000
30,000
30,000
146,000
139,000

H

1

7,000
146,000
139,000

H

7,000
146,000
20,000
20,000

H

10,000
10,000

7,000

7,000
10,000
10,000
20,000
20,000
20,000
20,000

H

H

H

H

H

10,000
10,000
20,000
20,000

H

W

14,000
7,000
7,000

15,000

15,000

357,000

H

1

H

250,000

Xl

H

21,000
86,000

mH

=2 A
= .

=2
=

A
=
H
=

=
=

SIIBEAIE HHIAH

OZ3Z2 At Ol bl Al

401 AIEHIZ 2 I
01 A& HI

A2

401 AIEHIZ 2

oSS58 =2 Fdl

=49
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[
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A AL
M sHMA JIBHHH &5
Sl sesE MEIIBEY (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
401 Al& Bl & 28I 357,000 357,000 0
Xl 250,000
< 21,000
s 86,000
01 A& HI 354,429 354,429 0
OALAR2 e 354,429
Xl 250,000
= 21,000
s 83,429
03 Al =2 THHI 2,571 2,571 0
O4Ln2 e 357,000,000& *0.72% 2,571
=S e 22 1,300 1,200 100
= 1,300
401 Al& I 28I 1,300 1,200 100
= 1,300
01 A& Hl 1,300 1,200 100
O=SMat2e| 1,300
= 1,300
218 =HIH A 60,000 150,000 A 90,000
401 Al I 28I 60,000 150,000 A 90,000
01 A& HI 60,000 150,000 290,000
ogllgr KXl2el 60,000
Mol A M=K HHIAS 834,000 1,254,000 A 420,000
= 382,000
< 188,000
[ia 264,000
401 Al BIZ 201 8] 834,000 1,254,000 A 420,000
= 382,000
< 188,000
[ 264,000
01 A& HI 828,499 1,219,442 A 390,943
OHE LEZM Mol E M=K ZFHIAL 361,379
= 182,000
< 73,000
i 106,379
OdY EXIH MolAFM=X HUlAL 397,120
= 200,000
< 80,000
[ia 117,120
OMoi?E M==Xl ZLMAE 70,000
< 35,000
fia 35,000
03 Al 2 THHI 5,501 4,558 943
OFE ZHM Mol M=X HUlAL
364,000,000& *0.72% 2,621
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2N AL
M P DIEHHA ==
Sl sesE MEIIBEY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OdE SXIM Mol S M=Kl FHIA
400,000, 000& *0.72% 2,880
HH == JH & AF 1,000,000 300,000 700,000
= 1,000,000
401 AIEHI L 2CHEI 1,000,000 300,000 700,000
= 1,000,000
01 A& HI 993,700 300,000 693,700
O2=z AIIXF =&AL 993,700
= 993,700
03 A& =2 THHI 6,300 0 6,300
O2=z AIIXT ==& A
1,000,000,000& *0.63% 6,300
= 6,300
ANl AdIHE S 1,250,000 2,586,000 A 1,336,000
Xl 1,000,000
e 250,000
401 Al HI L 2 THHI 1,250,000 2,586,000 ~1,336,000
Xl 1,000,000
s 250,000
01 A& HI 1,242,125 2,576,691 A 1,334,566
OAlZ =clAld HE= 1,242,125
Xl 1,000,000
s 242,125
03 AIE2 2 THHI 7,875 9,309 A 1,434
OAlZ =2lAld HE=
1,250,000,000& *0.63% 7,875
ANAHEMEH HAANY 428,000 0 428,000
Xl 300,000
< 38,000
s 90,000
401 AIEHI 2L 201l 428,000 0 428,000
Xl 300,000
= 38,000
[ia 90,000
01 A& HI 424,918 0 424,918
OZEXF HAXNG MEHA HEAY 424,918
Xl 300,000
< 38,000
e 86,918
03 A& S THHI 3,082 0 3,082
OZEXF HAXYG MEHA HZAY
428,000,000& x0.72% 3,082
AIIES TANSSH =4 3,792,300 3,580,400 211,900
= 18,750
Xl 1,230,000
= 135,000
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EXN: A4
M A)|ES TARSH ZA
Sel SADIBAE &5 (29l 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 2,408,550
S AID|BHAIE &= 3,792,300 3,580,400 211,900
= 18,750
Xl 1,230,000
&< 135,000
= 2,408,550
S A HE 2 309,000 431,000 A 122,000
101 Q121 H| 8,000 8,000 0
04 JI2ZtHIZ22NEES 8,000 8,000 0
OZHEANAE H=&Y 082
4,000,000& *23] 8,000
201 gBt2A | 28,000 20,000 8,000
01 AP 22| H| 28,000 20,000 8,000
OZAHE N2 20,000
LS ASMOILERI}) 2 =2 8,000
202 044l 3,000 3,000 0
01 2L I 3,000 3,000 0
O ot XA Odd| 3,000
207 A F 0 | 150,000 400,000 A 250,000
01 | 150,000 400,000 A 250,000
O==2clHE MEH 29 150,000
403 XX SRS K 20| & 100,000 0 100,000
02 2| 2SOUHes ==& AFE Y 100,000 0 100,000
OsHE dU=eHHY XJAS 100,000
405 XHA&HF S HI 20,000 0 20,000
01 XL 2 FF S| 20,000 0 20,000
OEXNEALTEI} 22 AlAE 20,000
SH JIE28 XNEAY 374,300 514,400 A 140,100
201 LBt 9| 41,800 41,900 A 100
01 AP 22| H| 1,800 1,900 A 100
OHEE 7Y 1,000
OJ2S Ba0s Moz g 400
OJI2g B8 A5 2 400
02 2324 40,000 40,000 0]
O3y HMIIR2 S 30,000
o&Exe A2l 10,000
206 M = dl 80,000 110,000 A 30,000
01 X2 Hl 80,000 110,000 A 30,000
OIIRE SANES ARE R (X OHAD|
s) 80,000
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2N A&
Hu: MI|ES CAZEN Z4
Sel: SADIBAIE 2B CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
1 A& 8l 28I 252,500 292,500 AN 40,000
01 A& HI 251,500 291,500 AN 40,000
5 JIZ2(E0H)E FHUIA 100,000
ON2s A& AY 40,000
og=Z HII=2 Hel 1,500& *1,000S 1,500
O8H% JI2s 22 |/ 100,000
OdH Fgot2 Jdtzs &Xl 10,000
03 A& 2 0HH] 1,000 1,000 0
OL% JI2(E02H)S FHl L AEAY 1,000
UUTAHECR HEBA 1,483,500 1,603,000 A 119,500
401 Al HIL 200 1,483,500 1,603,000 A 119,500
01 Al& bl 1,480,000 1,600,000 A 120,000
A SE10Z ZHEZZ IHESA 350,000
O2e 2222 ZHEZZ HESA
300,000,000& 300,000
O&= A1 ZHEZZ HESA 200,000
OZAHEE Jt2 4 HHIS3A 100,000
OZHETZ TMNL2I|ZBA 200,000
OZHETZ S& HS3A 330,000
03 A& 20HH| 3,500 3,000 500
OZHEEZZ HAZA =& 2,000
OZHEECZ SXNELZ2A =& 1,500
AA R TAHEHEHAH(WPIS)SXE = 38,000 22,000 16,000
201 LEt2 Y| 38,000 22,000 16,000
02 33249l 38,000 22,000 16,000
OdA 2 TAHEFHEMA(PIS) RN 22,000
OUAZ TAHEASBHAH(UPIS) SIHHl &
Xl ze| 16,000
HEY GEAY ZHAY 50,000 10,000 40,000
307 212t01 & 10,000 10,000 0
05 A2t E 2 10,000 10,000 0
O8ANLXNEAHLY ASHEH &9 10,000
401 Al HI L 2 0HHI 40,000 0 40,000
01 A& HI 40,000 0 40,000
OXLNEHLY RAE=ALY 40,000
401 ATHA SEHHIALY 900,000 1,000,000 A 100,000
Xl 630,000
& 135,000
= 135,000
401 AIEHIL 20| 900,000 1,000,000 A 100,000
Xl 630,000
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SN A
Hu: MI|ES CAZEN Z4
Rl SAIDIBAIE &= (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 735,000
s 135,000
01 A& HI 900,000 993,700 A 93,700
O2=HAMA SEEUAY 900,000
Xl 630,000
= 135,000
[ia 135,000
QIZEM =D 22 XN& At 37,500 0 37,500
= 18,750
s 18,750
201 Let24d] 37,500 0 37,500
= 18,750
[ia 18,750
01 At 22l 37,500 0 37,500
O ZIEE X3 ALY 37,500
= 18,750
fia 18,750
NE+=2 IS AY 600,000 0 600,000
Xl 600,000
401 Al HI K 201 I 600,000 0 600,000
Xl 600,000
01 A& HI 600,000 0 600,000
OLAEANE HIls FXHE ZEAMY 600,000
Xl 600,000
NS LEMAH & 4,833,560 4,269,360 564,200
< 23,000
i 4,810,560
NARELYEER 4,833,560 4,269,360 564,200
< 23,000
e 4,810,560
THoH Ol 2RI o0 e 3,918,360 3,239,360 679,000
401 Al HIZ 201 I 3,918,360 3,069, 360 849,000
01 A& HI 3,909,000 3,060,000 849,000
OLRR AN&EE B 50,000
OztdirS 2 EH ALY 100,000
O=Fel dgz &2 d 100,000
O TH o Ol 24 Xl < O 2 AH 0
OZF 20t nEAY 150,000
Od= 27 =2 FH| 40,000
O 28 s EEIA 15,000
Od= 2% =2 ZHISA 20,000
O&=+ && 23l 15,000
O E& s EEIA 15,000
O d= 2t ot EH| 30,000
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